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Materials 
For this paper you must have:  
• a calculator. 

 
Instructions 
• Answer all questions. 
• Use a black ball-point pen.  Do not use pencil. 
• You will need to refer to the source booklet provided to answer Section B. 
• Do all rough work in this answer book. Cross through any work you do not want to be marked. 
• You must answer the question in the spaces provided. Do not write outside the box around each 

page or on blank pages. 
 

Information 
• The marks for questions are shown in brackets. 
• The maximum mark for this paper is 80. 
• No deductions will be made for wrong answers. 
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Section A 
 

Answer all questions in this section 
 

 
 

Only one answer per question is allowed. 
 

For each answer completely fill in the lozenge alongside the appropriate answer. 

 
 
If you want to change your answer you must cross out your original answer as shown.   
 
If you wish to return to an answer previously crossed out, ring the answer you now wish to select 
as shown.   

 
 
 
 
Which one of the following is a true statement about average fixed costs? 
Average fixed costs 
 
A do not change as output changes.  
 
B fall as output increases.  
 
C include rent and raw materials.  
 
D equal total costs minus total variable costs.  

 [1 mark] 
 
 
Which one of the following is an example of a supply-side policy rather than a 
demand-side policy? 
 
A An increase in the supply of money.  
 
B Increased government expenditure on welfare benefits.  
 
C An increase in export subsidies. 
 
D Increased government expenditure on education and training.  

[1 mark] 
 

  

0 1 
 

0 2 
 

CORRECT METHOD WRONG METHODS 
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The table below shows the total utility of an individual’s consumption of chocolate bars. 
 

Quantity Total utility 
1 100 
2 180 
3 250 
4 300 
5 330 

What is the marginal utility gained by the consumption of the fourth chocolate bar? 
 
A 30  
 
B 50  
 
C 70  
 
D 300  

[1 mark] 
 
The diagram below shows the Marginal Revenue Product of Labour (MRPL), Marginal 
Cost of Labour (MCL) and Average Cost of Labour (ACL) curves in a market where 
there is a single employer but labour is supplied competitively. 
 

 
 
 
The employer’s profit-maximising wage rate and level of employment is a 
 
A wage of W1 and employment of L1  
 
B wage of W2 and employment of L2  
 
C wage of W3 and employment of L1  
 
D wage of W4 and employment of L2  

[1 mark] 
  

0 3 
 

0 4 
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Over a period of time, the value of the pound against the US dollar changes from £1 = 
$2.00 to £1 = $1.50.  All other things being equal, this is most likely to result in 
 
A UK products becoming more expensive in the US.  
 
B a downturn in the UK’s economic cycle.  
 
C a higher inflation rate in the UK.  
 
D an increase in the UK’s budget deficit.  

[1 mark] 
 
The diagram below shows the market demand and supply curves for electric light 
bulbs. 

 
Assuming that electric light bulbs are a normal good, the shift in the demand curve 
from D1 to D2 and the rise in the equilibrium price from P1 and P2 can be explained by 
 
A an increase in household incomes.  
 
B an increase in the price of electricity. 
 
C a decrease in the rate of value added tax (VAT) on light bulbs.  
 
D the introduction of a government subsidy to the producers of 

light bulbs.  
[1 mark] 

 
Which one of the following is used to measure inequality in the distribution of income? 
 
 
A The size of the employed labour force.  
 
B The value of the Gini coefficient.  
 
C The size of the income multiplier.  
 
D The marginal rate of income tax.  

[1 mark]  

0 5 
 

0 6 
 

0 7 
 



5 
 

  Turn over  
 

 
The four diagrams below show aggregate demand (AD) and short-run aggregate 
supply (SRAS) curves for the UK economy.  All other things being equal, which one of 
the diagrams A, B, C or D shows the most likely effects of an increase in raw material 
prices and an increase in income taxes on consumers? 
 
 
 
 
 
 
A  
 
 
 
 
 
 
 
 
 
 
 
 
B   
 
 
 
 
 
 
 
 
 
 
 
 
C  
 
 
 
 
 
 
 
 
 
 
 
 
D  

 
 
 

[1 mark]  

0 8 
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All other things being equal, a rise in which one of the following would shift an 
economy’s short-run aggregate supply curve to the left? 
 
 
A Wage rates  
 
B Imports of consumer goods  
 
C The money supply 
 
D Labour productivity  

[1 mark] 
 
 
The table below shows the marginal private and external benefits and the marginal 
private and external costs of two products at their free market equilibrium level of 
output. 
 

 Product X (£) Product Y (£) 
Marginal private benefit 200 70 
Marginal external benefit   50 40 
Marginal private cost 200 70 
Marginal external cost   90 30 

 
To improve the allocation of resources, what should the government do? 
 
A Tax product X and subsidise product Y  
 
B Tax product X and tax product Y  
 
C Subsidise product X and tax product Y  
 
D Subsidise product X and subsidise product Y  

[1 mark] 
 

  

0 9 
 

1 0 
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Three aims of commercial banks are liquidity, profitability and security.  To achieve 
these aims, the banks hold a range of assets.  Which one of the following shows a list 
of banks’ assets ranging from the most liquid to the least liquid? 
 

 Most liquid Least liquid  

A 
Balances at 
the Bank of 

England 
Treasury bills Government 

bonds Advances  

   

B Treasury bills 
Balances at 
the Bank of 

England 
Advances Government 

bonds 
 

   

C Government 
bonds Advances 

Balances at 
the Bank of 

England 
Treasury bills  

   

D Advances Government 
bonds Treasury bills 

Balances at 
the Bank of 

England 
 

[1 mark] 
 
 
According to the principle of comparative advantage, on what does a country’s gains 
from international trade depend? 
 
A Its level of money wage rates compared to its trading partners.  
 
B It imposing a higher level of tariffs compared to those of its 

trading partners.  
 
C Its greater productive capacity in some goods compared 

to its trading partners.  
 
D Its lower opportunity cost in the production of some goods 

compared to its trading partners.  
[1 mark] 

 
  

1 1 
 

1 2 
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The table below shows the effective exchange rate index for Country X in 2010 and 
2012 (2012 = 100). 
 

Year Effective exchange rate index 
2010 125 
2012 100 

 
All other things being equal, which one of the following options provides both the 
correct percentage change in the index from 2010 to 2012 and a valid reason why this 
change may have occurred? 
 

 Change in 
exchange rate Reason  

A 20% An increase in interest rates in 
Country X  

B 20% An increase in interest rates in 
other countries  

C 25% An increase in interest rate in 
Country X  

D 25% An increase in interest rates in 
other countries  

 
[1 mark] 

 
 
 
 
 
The lack of clearly defined property rights in a country is most likely to lead to 
 
A overproduction of merit goods.  
 
B equality of private costs with social costs.  
 
C overuse of scarce natural resources.  
 
D an efficient allocation of resources.  

 
 

[1 mark] 
 
 

  

1 3 
 

1 4 
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The diagram below shows aggregate demand (AD), short-run aggregate supply 
(SRAS) and long-run aggregate supply (LRAS) curves for the UK economy.  Initial 
aggregate demand is AD1.  The shift of the aggregate demand curve to AD2 is the 
result of a decrease in bank lending following the 2008–2009 financial crisis.  
 

 
 
The shift in the AD curve indicates that the effect of the financial crisis on the UK 
economy was to create a 
 
A negative output gap and structural unemployment.  
 
B positive output gap and cyclical unemployment.  
 
C positive output gap and structural unemployment.  
 
D negative output gap and cyclical unemployment.  

[1 mark] 
 
 
If the price elasticity of supply of a good is +4.0 and its price increases by 10%, the 
increase in quantity supplied is 
 
A 0.4%  
 
B 2.5%  
 
C 25%  
 
D 40%  

[1 mark] 
 

  

1 5 
 

1 6 
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In the diagram below, SRPC is a short-run Phillips curve. 
 

 
The vertical axis measures the 
 
A rate of interest.  
 
B price level.  
 
C percentage change in aggregate demand.  
 
D rate of inflation.  

[1 mark] 
 
 
Assuming a perfectly competitive labour market, a firm’s demand curve for labour 
would be derived from its marginal 
 
A cost curve.  
 
B revenue product curve.  
 
C utility curve.  
 
D revenue curve.  

[1 mark] 
 
 
An injection into an economy, with a marginal propensity to consume of 0.8, leads to a 
total increase in national income of £350 million. What was the value of the initial 
injection? 
 
A £35 million  
 
B £70 million  
 
C £120 million  
 
D £280 million  

[1 mark] 
  

1 7 
 

1 8 
 

1 9 
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An essential difference between behavioural and traditional economic theory is that 
behavioural economic models assume that 
 
A people act rationally.  
 
B consumers attempt to maximise utility.  
 
C people consider all the available options when making choices.  
 
D emotional factors influence economic decision-making.  

[1 mark] 
 

 
Which one of the following macroeconomic policies is a Keynesian economist most 
likely to recommend as a means of stimulating recovery for an economy that has been 
in recession for several years? 
 
A Increasing taxes to finance increased government expenditure.  
 
B Increasing the money supply to maintain very low interest rates.  
 
C Increasing government expenditure financed by increased 

government borrowing.  
 
D Cutting government expenditure to balance its budget.  

[1 mark] 
 

 
Government intervention will result in a more efficient allocation of resources if 
 
A it leads to a reduction in the consumption of demerit goods.  
 
B it leads to a reduction in the subsidies received by firms.  
 
C it reduces the number of competing firms in an industry.  
 
D consumers are charged for the provision of public 

goods.  
[1 mark] 

 
  

2 0 
 

2 1 
 

2 2 
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According to the Quantity Theory of Money, as illustrated by the equation of exchange 
MV = PQ, a rise in the money supply will have most effect on inflation when which one 
of the following combination of events occurs? 
 

 Velocity of 
circulation (V) Final output (Q)  

A Decrease Decrease  

B Decrease Increase  

C Increase Increase  

D Increase Decrease  

 [1 mark] 
 
 
The diagram below illustrates the short-run effect on output of increasing the amount 
of labour employed in combination with a fixed factor of production. 
 

 
 
At which level of employment will the total output of the firm be at its maximum? 
 
A OW  
 
B OX  
 
C OY  
 
D OZ  

[1 mark] 
 

  

2 3 
 

2 4 
 



13 
 

  Turn over  
 

 
In 2012, the UK Government issued a £100 bond with a coupon of £3 per annum and 
40 years until maturity.  Two years later, the interest that could be earned on a similar 
asset had risen to 6%.  What is likely to have happened to the price of the bond and its 
yield? 
 
A The price of the bond will have risen but the yield will be 

unchanged.  
 
B The price of the bond will have fallen but the yield will have 

increased. 
 
C The price of the bond will have risen but the yield will have 

increased.  
 
D The price of the bond will be unchanged but the yield will have 

fallen.  
[1 mark] 

 
 
The diagram below shows the cost and revenue curves for a firm in a perfectly 
competitive market. 
 

 
 
All other things being equal, the firm 
 
A is making a loss in the short run but will remain in the market 

in the long run.  
 
B is making a profit and will remain in the market in the long run.  
 
C will exit the market immediately to minimise its loss.  
 
D is minimising its loss by staying in the market in the short run.  

[1 mark] 
  

2 5 
 

2 6 
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The table below contains index number data for an economy’s GDP, population size 
and its price level for the years 2005 and 2014.  All three indices have 2005 for their 
base year. 
 

 GDP Population Price level 
2005 100 100 100 
2014 200 120 150 

 
Using the data, the increase in real GDP per capita between 2005 and 2014 is 
approximately 
 
A 10%.  
 
B 20%.  
 
C 50%.  
 
D 100%.  

[1 mark] 
 

 
The data below shows economic growth rates, unemployment rates and inflation rates 
for an economy. 
 

Year Real output growth 
rate (%) 

Unemployment 
rate (%) 

Inflation rate 
(%) 

2010 2 4 6 
2011 3 3 5 
2012 4 3 4 
2013 5 2 3 

 
All other things being equal, which one of the following is the most likely explanation 
for the relationship between the rates of growth of real output, rates of unemployment 
and inflation between 2010 and 2013? 
 
A A decrease in the money supply.  
 
B An increase in innovation and productivity.  
 
C A decrease in the savings ratio.  
 
D An increase in the current account deficit.  

[1 mark] 
 

  

2 7 
 

2 8 
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A farmer can produce two types of grain on his farm, wheat and barley.  The 
production possibility boundary below shows the different quantities of the two grains 
that can be produced on the farm in a single year. 
 

 
 
It can be deduced from the diagram that 
 
A a movement from X to Y results in an improvement in  

productive efficiency because the total output of grain  
increases from 100 to 115 tonnes.  

 
B at point X, the opportunity cost of producing 20 more tonnes  

of wheat is 40 tonnes of barley.  
 
C a movement from point Y to point Z does not involve an  

opportunity cost because all resources are fully employed. 
 
D the maximum amount of grain that the farm can produce in one 

year is 80 tonnes of wheat and 100 tonnes of barley.  
[1 mark] 

 
  

2 9 
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The diagrams below show the peak and off-peak travel markets for a 
price-discriminating train operating company.  The firm is a monopolist and the costs in 
both markets are the same. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
To maximise profits, how much should be supplied in each market? 
 

 Peak travel Off-peak travel  

A OV OX  

B OV OY  

C OW OX  

D OW OY  

 [1 mark] 
 
 
 
 

QUESTION  30  IS  THE  LAST 
QUESTION  IN  SECTION  A 

 
Turn to page 18 for Section B 
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Turn over for the next section 
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Section B 
 

Answer all questions in this section 
 

Refer to source booklet for Extracts A, B, C and D. 
 
 

Total for this Investigation: 50 marks 
 

Brazil: The Hot ‘BRIC’ 
 
INVESTIGATION 
 
Scenario 
 
You are an economist reporting to a UK car manufacturer who is considering investing in Brazil. The 
company has requested that you provide answers to three key questions. 
 
Referring to the source booklet, study Extracts A, B, and C and then use these and your own 
economic knowledge to help you answer questions 31 and 32.  There is also an additional news 
report, Extract D, which is to be used with the other extracts to help answer question 33. 
 

How does Brazil compare with the UK in relation to human capital and macroeconomic 
stability? You must use the data in Extract C to support your assessment. 

[10 marks] 
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If your client decides that they want to invest in Brazil, they will have to persuade the government that 
it will benefit the Brazilian economy and its people. 
 

Explain how Brazil is likely to benefit from inward investment by a UK car 
 manufacturer. 

[15 marks] 
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Taking into account the news report, Extract D and the original evidence, do you 
recommend that the company should invest in Brazil?  Justify your recommendation. 
 

[25 marks] 
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Extract A:  Who are the BRICs?  

 
The BRIC label was first coined by the investment bank Goldman Sachs and refers to a 
group of four large developing countries (Brazil, Russia, India and China), distinguished 
from other promising emerging markets by their potential to rank among the world’s 
largest and most influential economies by the mid-21st century.  Their potential is largely 
due to their natural resources, the size and structure of their population, their attitudes to 
investment and trade, and their capacity for technological progress.  The four BRIC 
economies have a combined population of over 2.8 billion, about 40% of the world’s 
population. They also produce more than a quarter of the world’s output. 

Analysts have suggested that, to enable a country to realise its potential for growth, there 
is a number of conditions that need to be met. These include:  

• a suitable level of human capital, for example, in relation to education, inequality 
and life expectancy 

• a stable macroeconomic environment, for example, as reflected in indicators of 
inflation, growth and government borrowing 

• access to current technologies such as the Internet and mobile communications 
• a stable political environment including the rule of law and the absence of 

widespread corruption. 
 

Source: News reports, October 2013 
 

 

Turn  Over  for  Extract  B 

 

1 
 
 
 
5 
 
 
 
 
 
10 
 
 
 

 
15 
 
 

 

 
  



3 
 

   

  
 Turn over  

 

 
Extract B:  Brazilian economy  

Brazil has a mixed economy with abundant natural resources. It has been the world’s 
largest producer of coffee for the last 100 years and it will shortly become one of the 
world’s top ten oil producers. Brazil also has a strong manufacturing sector. For example, 
it is a likely source of the A4 paper you use in your printer, and its Bandeirante 
Corporation has long competed with aerospace giants as a world-class manufacturer in 
the niche market of short-haul commuter aircraft.  By value, it ranks as the 23rd largest 
exporter in the world. However, the discovery of oil off the coast of Brazil has led to an 
appreciating currency; this makes life more difficult for domestic manufacturers.  

Brazil is the world’s fifth largest country by both population and total area.  It has grown 
rapidly over the last thirty years and is now the world’s seventh largest economy. It has 
the fourth largest car market in the world. From 1980 to 2011, Brazil’s Human 
Development Index increased by 30.8%.  However, Brazil is also well known for its 
inequality, and there is much rural and urban poverty.  Many of its large cities contain 
crowded and deprived slum districts known as favelas. Brazil’s health care system ranks 
125th out of 190 countries.  

Brazil currently dominates Foreign Direct Investment (FDI) into Latin America and in 2011 
it attracted about one third of all the FDI into the region.  FDI creates jobs and contributes 
to improvements in human capital as foreign companies often invest in their workforce. 
New investment has a multiplier effect and the resultant growth in GDP generates higher 
tax revenues for the Brazilian Government. However, there are also the environmental 
effects to consider. Many overseas companies that are located in Brazil export part of 
their output but some of their profits are sent abroad. 

Source: News reports, October 2013 
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Extract C:  How does Brazil compare with the UK? 
Selected data for the UK and Brazil (2013 unless otherwise stated) 

 UK Brazil 
GDP (PPP) $2.39 trillion $2.42 trillion 
Real GDP per head (PPP) $36,600 $12,100 
Real GDP growth per capita (2000–
2012) 

1.14% per annum 2.27% per annum 

Average growth (2000–2012) 1.72% per annum 3.41% per annum 
Human Development Index (HDI) 0.875  

(World ranking 26) 
0.730  

(World ranking 85) 
Unemployment 7.7% 5.5% 
Inflation 2.7% 6.2% 
Current account of the balance of 
payments (%GDP) 

–2.41% –3.83% 

Public sector debt (%GDP) 91.1% 59.2% 
Budget balance (%GDP) –7.4% +1.6% 
Industry %GDP 20.5% 26.4% 
Services %GDP 78.9% 68.1% 
Gini coefficient 34.0 54.7 
Share of income of the poorest 10% 
of the population 

2.1% 0.8% 

Share of income of the richest 10% 
of the population 

28.5% 42.9% 

Years of schooling 16 yrs 14 yrs 
Literacy rate 99% 90.4% 
Life expectancy 80.3 yrs 73.0 yrs 
Infant mortality rate 4.5 per thousand live 

births 
19.8 per thousand live 

births 
Population 63.4 million 201.0 million 
Population, % over 65 17.3% 7.3% 
Population, % under 15 17.3% 24.2% 

Source: The World Factbook 2013–14. Washington, DC: Central Intelligence Agency, 2013. 

Note: PPP = purchasing power parity 

 

 

Turn over for Extract D after you have answered questions 31 and 32 in order to answer question 
33 
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Extract D:  News report – Is Brazil in trouble? 
In June 2013, more than a million citizens across Brazil took to the streets to protest 
against political corruption, poor healthcare, inadequate schools, substandard public 
transport and crumbling infrastructure. This is in a country which is reported to be 
spending $13.3 billion to host the 2014 World Cup and $18 billion to host the 2016 
Olympic Games. 
 
In February 2014, the Brazilian currency, the real, is also making the headlines. In recent 
months it has collapsed against the pound. A year ago, visitors to Brazil would have got 
2.70 real for £1 but now the rate stands at 3.61 to the pound. The fall in the value of the 
real is in response to a widening budget deficit and fears that the government’s credit 
rating will be reduced. In response, the central bank has raised its base interest rate to 
10.75%. 

Source: News reports, March 2014 
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